-‘—'—-_-_______.

1. The judges of Supreme Court hold office till they r::;:l;{l)l! age of
WA (4) 60 years

(1) 58 years (2) 62 years

52.  Which one of the following committees was constituted in the year 1991 for reforms in tax structure in

India?”
el Narasimham Committee. (2} Chelliah Commjyee.,
(3) Gadgil Commitiee. (4) Kelkar Commieg,

5. In |ﬂ|:|1'~;!.. the Tropic of Canceg.does not pass through which of the following states?
(1) Rajasthan f{ Chhattisgarh (3) Mizoram L/“/:I/ Meghalaya

34.  The axis of the carth is stated to be inclined at an angle of IS-E%-" - With respect to which of the following

does the axis of the earth form this angle?

{1} The Equator WI‘ ropic of Cancer (3) Plane of Ecliptic @ Arctic Circle
55.  The Indira Gandhi Canal originates from which one of the following?

(1) Pandoh Dam vi2) Harike Bamrage {3) Mangal Dam {4) Gobind Sagar Lake
36. The process ol photosynthesis is most active in the regions of the spectrum,

(I} voiletand blue | (2] green and red (3) red and blue (4) blue and green

57.  Inside the human body, bleod does not coagulate due to the presence of i
(1) fibrin {2) haemoglobin MEparin {(4) thromboplastin

58. In the case of a deadlock between the two houses of the Parliament of India, on a legislative measure the
joigt sitting is presided over by the
) President.
{2) Vice-President.
) Speaker of Lok Sabha,
(4) A member of Lok Sabha specifically elected for the purpose.

59.  Which is the largest landlocked country in the world? _
(1} Afghanistan (2) China {3) Kazakhstan b/'l';i Mongolia

60.] Ewvery year, International Cancer Day is observed on :

O (1} February 4 w7} April 2 (3) January 16 LA February 23

61. The Supreme Court of India comprises the Chief Justice and not more than other Judges
appointed by the President of India. —
(1) 28 (2) 29 (330 (4) 31

67 Who has been elected as the 18™ Prime Minister of Pakistan by the National Assembly after the
resignalion of Nawaz Sharif? ) :
(11 Shahbaz Sharif Shahid Khagan Abbasi
(3) Khuram Dastgir Khan (4) None of these
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63, The senior Indian lawyer who argued for India in the hearing at the International Court of Justice on the

Kwﬂ%ﬁﬂ“ - E{l] Parag Tripathi. {3) KTS Tulsi. (4) None of these
4. who passed away in May 2017, was the first woman to become Chief Justice of a High
miur-:; Il::f:'il'IL:.nd)' Uz(- Leila Seth (3) Violet Hari Alva  (4) None of these
65. Which of the following Mughal emperors defeated the Sultan of Delhi, Ibrahim Lodhi, in 1526 m
; Ba::mupm g i':g;"iﬁf::ﬂw“ {3) Akbar {4) Shah Jahan
66. The Principal seat of the High€ourt of Madhya Pradesh is located in which one of the following cities?
(1) Gwalior \)éﬁndm: {3) Bilaspur Mﬂhﬂlpm

67. Who among the following has been appointed as the Chairman of the Central Board of Film
Centification (CBFC) in August 2017 by the Ministry of Information and Broadcasting, Government of

India?
\%ﬂ Prasoon Joshi U,z‘j’ Pahlaj Nihalani (3) Anupam Kher {(4) Nonc of these
68. The Indian National Congress adopted a resolution at its historic session in 1929 calling for
‘Purna Swaraj’ from the British.
(1) Karachi ) Lahore (3) Calcutia (4) Bombay

69.  In which district of Kamataka is the historic place ‘Hampi' located?
J Bijapur {2) Bellary {3) Gulbarga {4) Raichur

70.  Who was the President of the Constituent Assembly of [adia?
(1) Pt. Jawaharlal Nehru ) Dr. Rajendra Prasad

{3) Dr. Babasahch Ambedkar {(4) Dr. Sachchidananda Sinha

The most famous musician at the court of Mughal Emperor Akbar was Tansen. His original name was

71.
{1} Baz Bahadur. (2) Mukund Pandey. (3) Ram Chand. L4y Ramtanu Pandcy.
72.  The electrical equivalent of one horse power is equal to __inthe International System of Unit (1)
(1) 716 watts 'ﬁv{ﬁ’ 746 watls (3) 756 watts (4) 776 wans
73.  Who among the following al.hlet_ﬂs has won the men's |00 metres sprint al the recently concluded TAAF
World Athletics Championships in London?
} Usain Baolt } Christian Coleman  (3) Yohan Blake (4) None of these
74.  Where will India and the USA be co-hosting the Global ﬂmmﬂﬁhip Summit in November 20177
(1) New Delhi (2] Hyderabad Gandhinagar (4) Chandigarh
25 The Reserve Bank of India has recently introduced ¥50 d:r!gminatiﬂn banknotes in the Mahatma Gandhi
Series with motif of on the reverse. - .
(1) Qutub Minar \l}(«mark Sun Tgmplg\}{} Hampi with Chariot (4} Charminar
10
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76. gﬂﬁ:;ip of friends met at a club 15 days ago and promised 1o e _
D F _?- on which day will the friends meet again? Bam afler 36 days. If today is
ricay w(2) Saturday 3w
) Wednesdiy . (4) Thursday
717.  In a certain code SAM is written a3 917 and ENTHUSE ; -
i ' S 18 WL . R
ﬁu&tﬂ;ﬁ; :':I.Iuwing could be a [mssihl.tgmde for the word ENTEL%?IE.%:::?E?I' In this coding system,
: 7 263489157 '
2 (2) (3) 2634985197 (4) 2634891597
78. rlt;‘dﬁl;: sum of all two-digit numbers that give a remainder of 3 when they are divided by 7. 2 ¢ 34E59
(2) 666 JA) 676 (4) 686 3 L8
79, A mixture worth ¥ 3,25 a kg is formed by mixing two types of rice. one costi a
: . ting ¥ 3.1
other ¥ 3.60 per kg In what proportion must they have been mixed? Sa TR %
(1) 37 (2) 7:10 (3) 10:3 4] 73 ;IE
80. Typist P can type a sheet in 6 minutes, t}:pisr Qin7 II].iI'llIIEE and typist R in 9 minutes. The average °
number of sheets typed per hour per typist if all three typists are typing, is : :
(1) 265133 (2) 530/63 (3) 655/93 _JAT None of these )
81.  Find the selling price of goods if two salesmen claim to make 25% profit each, one calculating it on cost
price and the other on the selling price; the difference in the profits cared being ¥ 100 and selling price
being the same in both the cases.
(1) T 1600 27, T 2000 - (3) 22400 (4) ¥ 2500 (4
82. A shopkeeper sells rice in such a way that the s:lclrj.'gg price of 950 gm is the same as the cost price of one
kilogram. Find his gain percent. ) . ek X
(1) 100/17 % (2) 150/17 % ‘?ﬁﬁ., (3r100/19 % g‘cﬁ“ (4) 1/19 % B
A salesman is appointed on a basic salary of ¥ 1200 per month and the condition that for sales of .-
T 10000 or above, he will get 50% of the basic salary and 10% of the sale values as a reward. This
incentive scheme does not operate for the first ¥ 10006-of sales. What should be the value of sales if he
wants to earn T 7600 in a particular month? 51‘3.?5 e
(1) T 40000 (2) T 50000 (3) T60000° 57> i) None of these L
%4. Rana makes a deposit of ¥ 50000 for a period of 2% years in the ACB Bank. If the rate of interest is
|2 % per annum compounded half-yearly, find the maturity value of the money (approx.) deposited by
him. :
(1) T 65550 (2) 266911 A Te6123 (4) T67925 -
85 The students in three batches of BBA are in the ratio 2:3:5. If 20 students are increased in each batch, the
ratio changes to 4:5:7, The total number of students in the three baiches taken together, before 'h‘i [
increase, 18 : Lﬂ‘]/ Ai 146 |
(1) 10 (2) 90 100 Gl i
86. In a certain city, there are four men for every three women and five children for every three me. Ho o,
, many children are there in the city if it has 531 women? m?un l_/ﬂﬁ il 4
- i=(1) 389 (3)
5 5w . 359 (@) 454 P
e _i':;? 4 g | tﬂ.:l c %
W " -
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g7. If the price of a commeodity be raised by 10%, find out by how much per cent must a householder reduce 1.-;
his consumption of that commodity, so as not to increase his expenditure. ﬂ},/” _.
y. 45
(n L% 9-Log (3) T—=% (4) 26=% % 3,;; sh Vo
11 11 11 3 R @ W\ ),,:
' e K

g8, Find the compound interest on ¥ 50000 for 3 years if the rate of interest is 5% for the first year, 6% for

the second year and 10% for the third year.
z 11215 2) 216032 (3) T 10362 W) TR e
n;ss-. A train 100 m long is running at a speed of 70 km per hour. In how much time will it pass a man who is
l running at 10 km per hour in the same direction in which the train is going? t::q"r' o
” M) 6sec (2) 12 sec (3) 9 sec () 165 g

T 87000 and T 72500 respectively, in a business and agree that 25% of the profit
the remaining profit is to be treated as interest on capital. If

d the total profit made in the business. %" 870721

90, Two pariners invest
should be divided equally between them and
one partner gets T 240 more than the other, fin

(1) T 3250 ﬂ%, RN B 35;2};: 'f:ﬂ (3) T 362074 (4) h'.rzu'f?; \1.11 1,::;
F o i 1) : i
91. If the letters ‘Q/E E{I XHQDU b{TB‘ are placed in the order opposite Lo the one in wﬁ‘uﬁ[htﬂ "
normally appear in English Alphabet (i.e., in reverse order), then which of these would be the fifth letter
from right to left? e A5 2000
8
(hz T (3 Q @B gy
‘Egﬁﬂq:\lrﬂt’fﬂ“ﬁ'ﬁ %\

Soham says, "I have as many sisters as brothers". Pooja says, "Each of us sisters has only half as many

92.

sisters as brothers", Assuming that Soham and Pooja are brother and sister, how many brothers and

sisters does the family have? ;

(1) 4 brothers and 6 sisters (2) 6 brothers and 4 sisters

{3) 3 brothers and 4 sisters 4 v{ﬁj 4 brothers and 3 sisters & 14 v
93,  Which one of the following does not belong to the series?

Abz, Bey, Cdx, Dew, Efr

(1) Abz (2) Bey (3) Dew 4T Efr

94. A pizza delivery boy started walking southwards to reach his destination which is 6 kms away. From the
target, afier delivering the pizza, he tums 180 degrees in the clockwise direction and then turns 43
degrees in the anti-clockwise direction. Which direction/is he facing now from his destination?

(1) North (2) West (7) North-West (4) South-East

95. Neeta is teaching relations to her daughter. She says, “How is my mother’s mother's daughter-in-law's
daughter related to me?"* What will be the correct relationship? A
(1) Maternal Aunt (2) Mother @t Cousin AT Niece



11} There are five villages A, B, €, D and E. Two of these haye

o PR TEEENHe FO=Ya ks Adoled (e FEEEETEETNS TR IR a0 Ty un.m.#' )
these quesri
g HOMS.

: post offj

13 le b . of more th es, three have schools and three are
L ceessible by road. Two have population o an 5000 each, two by _

%’:n:h and one has a population of less than 2000, € population between 2000 and 5000

-

41 Two of these villages have electricity in addition to certain oiher faciliti
t road. One village with a population of less than 2000 also has o

accessible by road while each of the villages with a population of
Of the two villages having population between 2000 and 5000 ,
road. A 15 accessible by road. B has a population of more than 5000, D has
but does not have a post office, while E has a school but is not accessible by

€5 such ag school and accessibility by
school bu neither has a post office nor is
more than 5pgg has a school,

nly one has 3 pogy office and is accessible by
a school and is aceessible by road
Toad.

96. Lr?kh village does not have any of the facilities available to other villages?
B ?

(2) C (3) D (4) E

97.  Which three villages are accessible by road?

(1} ACD (2) A,B.E (3) B,D.,E L;}(ﬁ,a D
98.  Which village has a population of less than 20007

(1) B e (3)D (4) E
Directions (Questions 99-100): Read rhe Jollowing information fo answer these questions.
A + B means A is the son of B; M‘*"H
A — B means A is the wife of B; and 'l
A * B means A is the sister of B, ?

vV

99.  Preetam + Mogka - Aloke means :

(1) Preetam is the grandson of Aloke (2) Preetam is the grandfather of Aloke AT .L,

{3) Aloke is the grandmother of Preetam U}.}"Preetam 15 the son of Aloke ?-’c‘ L.
100. A+ B~ C+ D would mean all of the following except . H

(1)} Bis a female {2) A is the granddaughter of D

D is the father-in-law of B (4) C is father of A

101. In M5-Word, if you want to display the meaning of a word in your text at the bottom of the last page,

which feature will help you?

i1) Endnote Ll;;)”an{nntc {3) Bottomnote {4) Foolernote
102. What is the shortcut to add a new slide in MS-PowerPoint?

L/H‘j Crl+N (2) Crl+M (3) Cirl+S (4) Ctrl+L

103. What is the shortcut key to create a copyright symbol in MS-Word?

(1) Alt+Cul+C ) Alt+C @'mrhc (4) Ctrl + Shift + €

104. In MS-Excel, what is the keyboard shortcut (button or buttons to be pressed) for creating a chart from
il il

the selectey] cells?

(1) F3 @) F5 i NEdL (@) F11

2. 25
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ow mode directly instead of opening it in Powerpy;
YU 58V the presenlatmn file? OInt apy

ppsX (4) pptm

105, If we want to open a PowerFPoint file in slide sh
then selecting slidé show, in which format should

ppt (2} pptx

particular column, which feature can help you?
(2) Remove Same
(4) Itis not possible

106. In MS-Excel, if you want to show unique values of a
. (1) Remove Duplicates

\ 37T Show Unigque
107. What is the shortcut to increase the font size in MS-Word™
M) Curl +> (2) Curl++ (3) Curl +* (4) Cirl +]
108. Which one of the following memory units is considered as the largest? ;
Lfm Peta Byte(PB) (2) Exa Byte(EB) (3) Zetta Byte(ZB) (4) Yotta Byte(YB)
109. monitors user activity on internet and transmits that information in the background 1o
someone else.
(1) Malware \(2 Adware (3) Spyware (4) Spam

110. Which tool in MS Excel is used to create headings that spread across multiple columns?
(1) Combine tool .V;ZT Merge Cellstool . (3) Consolidate tool (4) Join Cells 1ol

111. In MS-Word, when you want to repeat the same formatting at different places in your document, you can

take the help of
A} Character formatting. (2) Paragraph formatting,
{3) Styles. (4) Tabs.
112. DNS is an acronym for :
(1) Domain Name Sccurity \_(.’ﬂ/[;lumain Mumber System
(1) Document Name System 2 {4) Domain Name System

113. In MS-Word, which of the following does not fall under paragraph formatting?
{1} Alignment Indentation
(3) Line Spacing (4) Underline style

114. What does SUMIF function in MS-Excel do?
(1) Adds up cell values based on a condition (2) Adds all the numbers in a range of cells
(3) Returns a subtotal in a list or databasc ,\_/{'f] All these

115. To assign a name to locate/reach a specific point in an MS Word document, the user should create !

nJA) Hyperlink (2) Bookmark (3} Comment (4) Macro
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16, What mmhin_atiun ofkeys do you press to enter the current date in a cell in MS-Excel?
(1) Cirl + Shift + - (2) Cirl +; AT} Cirl + F10 ;4;-, Hl:-mcnfﬂ'lﬂe

117, Which of the following is the communication
accesses web-based information?

(1) XML
(2) DML \WTTP _ {4y HTML

T18. What is gutter margin?
(1) Margin that is added to the left margin when printing
(2) Margin that is added to right margin when printing
-{f‘;’.l Margin that is added to the binding side of page when printing
(4) Margin that is added to the outside of the page when printing

Protocol that sets the standard used by every computer that

119. Which of the following statement is correct for charts in MS Excel?
-'L.U’f A chart can have a chart title, legends and axis titles.
W A chart can have a chart title and legends but no axis titles.
(3) A chart can have a legends and axis titles but not a chart title.
{(4) A chart can have a chart title and axis titles but not legends.

120. If you want to type a character which is not there in the keyboard; for example, the copyright symbol €',
how will you bring such a character in your text?

(1) Purchase a keyboard with all symbols. L Use Character Map
(3) Use Symbol Text (4) Use Text Map
121, In M5-Word, which of the following shortcut keys is used to check Spelling and Grammar?
(1) Fl (2) F2 BT F7 (4) F9
122. What term describes explanatory text attached to a cell in MS-Excel? C
(1) Callowm {2) Comment (3) Dialog \\_,Hf Extension 123 P
12'3
123. Firewall is a type of , 4 . _r_iﬁ
(1) virus {2) worm Lﬂ{muﬁly threat {4) Nonc of these \ M
i e -
124. is distributed computing over a network, and invelves a large number of erl‘ilmf
connected via real-time communication network such as the Intemnet. 5 B
Cloud Computing (2) Thin Clicnt Computing
(3) Fat Client Computing (4) Dumb terminal Computing
125. A is & website like any other, but it is intended 1o offer personal opinions of people on
their hobbies, interests, commentaries, photo, etc.
(1) Protocol {_(3r Blog (3) Webpage (4) Journal
B/ XXXV IX 15 2
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